Maths Intermediate 2

Unit 1 Practice Assessment

Outcome 1

1.
A bank account receives 3.5 % compound interest per year.


How much interest will be received on £1500 in four years?

2.
A new motorbike costs £6500.

It depreciates by 11% in the first year and 26% in the second year.

What is it worth after two years?

Outcome 2

3.
Calculate the volume of the cylinder shown.


Give your answer correct to 2 significant figures.





4.
A cone has radius 12cm and height 27cm.


Calculate is volume.


5.
Calculate the volume of a sphere with radius 5.6cm.


Give your answer correct to 3 significant figures.

Outcome 3

6.
A is the point (-3,5) and B is the point (1,-1).


Find the gradient of the line AB.

7.
Sketch the line with equation  y = 3x - 2

Show the coordinates of intercept with the y-axis.

8.
Find the equation of the straight line shown

in the diagram, in terms of x and y.

Outcome 4

9.
Simplify
(a)
2x ( 3x - 7 )




(b)
( p + 4 ) ( p - 5 )

10.
Factorise
(a)
16pq  +  20qr




(b)
m2 - n2



(c)
m2 + 8m - 20

Outcome 5

11.
Calculate the length of the arc AB.


12.
Calculate the area of the sector shown.

13.
The diagram shows a kite JKLM and


a circle with centre J.

(a) State the size of angle JKL.

(b) Find the size of angle KLM.


14.
The diagram shows a triangle inside a semicircle.


Find the size of the angle marked z.
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